EARAROBREBRT —5 XN—ZXBISH—F

2024538268 (A) 13EIEAI2H

mif‘;‘éﬁﬁﬁlj B3 HS%—3 [ml m [memm - | 5 oo Am
[#&%£] 17%&:2,700,000  ~ 237%&:1,080,000 "  33#&:675000 M  43&:405000 M  53&:270,000H
B RS RS M MHE BF (F8) |94L (BF) | @Bl | E3F |SiEH | AR | #E | A6 (R / B / £EWS
11101 1va9/725-14 i 4 ?5%34 %7_? 52 353 - | 5 (4_83 gg%_@a@
RINZA R F—UF F:YRUFYUY— LIRS
° 6 | FHEZ 47.9 34 355 — | 1 | 466 |NRIRE GHAD)
217110/ B—F e 8.0 @) @5) | ZV=IZ9R )
RiAI/ RS 8RR/ I=Z— PSFIT—I
°_ 1 ~ t 5 | St 48.2 2-2 5.8 — | 6 | 461 |HAER ()
3 yARAS B e V7 * 54.0 a1/2 3 | ZIAL. IFLAN. ZFATI (
RiNZ—kEa1—2 BN AAAA RIS
= AEIFEERS - - HHEE (Hotd)
1, BEEEEEDR % 7 | FEa & e TS
RZAZAAND—RV 1A B:IALboTY IS5V RES
i 6 | HOEES 48.4 1-1 36.0| — 3 551 | BHESE @)
5156 |/\N97A3T0— " 56.0 (op) 2 | @ H. 13-—ku—vay
RiN40 B:o1VIbF NE &
T FEHRER - - KERE (Ioi8)
6171973 NILN ~X b 54.0° (478@) 8 5 ! (‘_1?(2)) () YvIF7—
R:AVRNFPUYIR B:ISEVILT« BRI
s o— S8BET - - SHIEX (B
7 3| VIFITSAh o6 o= g/‘g 6-7 35.8 8 (ig) EEHE;'%( )
RiVIRI—ZIZRI— H:YISTAR LIS
== Segth - - KEFESE (RIAD)
g8l 2F5Er3— * 5 | B 4?1.)8 45 | 36.3 2 (4_637) St
R:iboPO—JUR 8 ~XA—F Sw—Hie
S~ S RJIZY 4. 1-1 90 = | 09 | RSB CH)
9 4 JxJ9UhNS o5 £252.0 (191/02) L 0 (_29) #) 77IVF
RiALYISwoEl 8:TTTI/NT INRAIS
—O—2 # 8 | BN 49.3 89 [36.3| — | 11 | 457 |HOF GHND)
10/8[12| Z)b—0O—2X 540 (1172 ) | EBE
R:IALNSRY IR 859V TI—L B I7—4h
“— o Pl - - #HO—R (BT
s 75vo7ER # o6 | NE (419/.24) 10-11 | 36.4 9 (5350) %Eﬂ%fu( )
RiRyI—IIRI B:FATIVRTA ke
sy L& - - - - - -  |ESAKER (#ot8)
#x| 5|5 | RITAIYVY 7S 1) (=) KeBR
RiAAV3IR—5— BNLEYI—Va F—0YU—T7—L
@ 11— —&@BIE(I
13—7+—
Adl=5r=
3Jd—7— |6,7,10,11,1,3,2,12,9,8.,4
43—7F— |6,(1,7),10,11,2,3,9,12,4,8
@ IRE
B B 1 1,010/ | [ 94 K 1-10 480M | | # = 1-7 800F9 | | 3i=|&E 1-7-10 4,630M
B B 1 210M 1-7 1,140 | | # & 1-7 2,080M | | 3E=E 1-10-7 26,230M
10 1404 7-10 550 | | &5 &= 1-10 1,330
7 250 5 2 1-10 3,550

ABIC OV TRUTEREERRODDZE. THRIIZEL.




